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THIRD SEMESTER
CIVIL/CTM
SCHEME JULY 2008
SURVEYING

Time : Three Hours Maximum Marks : 100

Note : 1) Attempt total Six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.

Pl B: U gal HITTI 02T 1P 1 (TS
TR 1) AfHart 21 99 vl # 9 f=g ura
B g B

11) In case of any doubt or dispute, the English
version question should be treated as final.

foft it geR & Weg s1uar fAag & RAafa
q IS YT & WeH B 3ifaH AT SR
. Choose the correct answer. 2 each
Wel IR BT 79+ Hifo|
1)  AsperIS - 1942-1970 number of links in 30m
chain is -
HRA I9® 1942-1970 & AR 30 Hic &
a9 H Hfeal T dwar gl
(a) 300 (b) 200
(c) 150 (d) 100
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i1) Trough compassisused in -
(a) Line plotting by Theodolite
(b) Chain and compass surveying
(c) Plantable surveying
(d) Chainsurveying

givlt fipgEe &1 Swa fan ST g
(1) 2AISicTSE gRT XEidA
(3) A9 9 HFURT |Adeqor
(|) geer wdearor
(g) SRig wdefor
iii) Levelling as well as angular measurement is
possible by -
(a) Dumpy level (b) Theodolite
(c) Box sextant (d) Abney level
far IueRT gRT Safert va wivfly A1g 99 &:
(31) s+t et (3) easiaTse
(T) giq HAaie (7) vt daa

iv) The Bench marks proposed by the survey of India
department is -

(a) Permanent B.M. (b) GT.S. Bench mark
(c ) Arbitrary B.M. (d) Temporary B.M.

YR |deror Ry grt RyiRa $9 96 &
(1) TS S Ah (3) Sh.3r.ow. ¥ 916
(@)oo Saas (3) sl I3 A1h
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v) The sum of interior angles of a closed Traverse
is -
TP ¢ A & IR DIV BT IR BT &:
(a) (2n—-4) x 90
(b) (2n + 40) x 90
(c)(n—4) x 90
(d) (2n-4)

2. a) Enlist the complete list of equipment required
for measuring distance by a chain. 6

9 gRT G A1 & ford 3masgsd Iuavv $i
T I, Eliag S

b) What are offsets? How are they taken and
recorded? Why should the offsets be kept as
short as possible? 2+5+3=10
TGOS T 2?7 TIABT o 9T R F B
AT 8?7 TAT WHGT WF9ad: BITT 7@ ST a1

T Hiforg)

¢) Show the conventional signs for the following:
/2 each
1) Metal road
i1) Marshy land
i11) Church
iv) Temple
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fFrafafRea & udie fimg orfsdl
i) dATAS

ii) =eff ois

iii) ol

iv) gfeR

3. a) A 20 m chain was found to be 15 cm too long
after chaining a distance of 1700m. The same
chain was found to be 20.5cm too long after
chaining a total distance of 2975m. Find the
correct length of the total distance chained.
Assuming that the chain was correct as the
starting of the chaining. 6+ 6=12

U 20 Y. o=l 99 gRT 1700 . g A9 W)
a9 15 ). 31fre ot uid ) 9d) o9 arf &
qeETd 2975 A, Pet A AT WR 20.5 4. ifers
Fdl u1g 131 A forat SQ 6 gRe H T HY
orearg wgl ot @ el g s e

b) Draw a neat diagram of a metric chain. Show the

| various components along with proper dimensions.

3+3=6

nfeew a9 &1 YeuE o 10 a1 39S IS
3qgdl @ FRuiRa 9 & Wy we i
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a) State the meaning of compass Traversing and
How it differ from chain surveying? Explain.

3+3=6
T ¢aRf, ereg H e I duar ag
99 wdemr 9 A $w 82 ww Hifs

b) Convert the following Quadrantal bearing to
whole Circle Bearings. 1 each

aqafer Rewm o guiqa fRea 9 qafor
1) N30°40'E ii) S 85°20'E
ii1) S 35°40'W iv) N 36°40'W
v) S64°15'W vi) N30° 30'E
c) State the difference between the following

terms: 2 each
1) Magnetic and True Bearing

11) Local attraction and Declination

1i1) Fore and Back Bearing

fFfaRea o & d9 srax wE Sl
1) Fgrahg a1 gurd fepa™

ii) olipet Yoae™ auT eepa™

i) 37 9UT 9 fapH

. a) State the equilisation of Back sight and Fore-

sight distance. 6
1.0, 9T Uh.0. R b Aged Dl A |
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b) Explain the various sources of error's in
levelling. What precaution should be taken to
minimise them. Explain. 4+4=8

deieror § wevTfaa Ffeal & Y Sdal &t
FASTE | YT I7e T A & fordl U araentaar

g1 8 ? At Hifow)
c) State the purposes of doing profile levelling and
cross levelling. 4

RIS TAT I TAGIVT HRA & Ieed forRaul

6. a) Whatdo youunderstand by contouring? State the
some important characteristics of contours and
method adopted for plotting the contour line and
explain in short about the direct method.

3+6+3+3 = 15

HERT A Y T FHSIA g ? GHId 13l &

AT U qAT I7g Fifhd A Hl IuYeh

faferat 6 SRt oo g8 ueaer fafy a1 avi
~ Bifel

b) What are the Arithmetic check in Levelling? 3
HHTAIDROT H IHOTAIT ST T 8 ?
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7. a) Following consecutive staff readings were
recorded in profile levelling on a continuously
sloping ground.

0.75, 1.60, 2.55, 3.45, 1.05, 2.70, 3.20, 0.85,
1.90, 2.75.

The first reading was taken on a Bench mark with
R.L 1245.50m. Enter the readings in standard
table and calculate the R.L. of all the stations.

5+5=10
AMEAR 3l s R fafaa wem dfea
MRTSA Aafort | a9 ford
0.75, 1.60, 2.55, 3.45, 1.05, 2.70, 3.20, 0.85,
1.90, 2.75.
uyH AT 1245.50 . IR.TA. Tt &9 H1S W
ferar w7 TeTw AfST o1 995 2ffa & foRav
aar 9t I & AR, . H AT HifST

b) Explain the types of survey lines and state the
importance of well conditional Triangle in chain

SUrvey. 8
FI&10T XGTA F UBR AT A7 FI&0T § gafea
s & 98 & W)
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8. Write short notes on following : 4/ each
1) Classification of surveying
ii) Autolevel

1ii) Graduations are marked inverted on a prismatic
compass

iv) Levelling staff is made in two or three fold
f o) wfém fewaforar forRag)

i) AdeTuT BT e

ii) oIl olad

iii) s fipqas o urgaia Iee ford g1a 1
iv) otafelT ¥T® ar g1 | YT § 9497 gt 2l

T e
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